
1190 RC 8 WHITE 2008 <2008><EU><9903H7>
CLUTCH COVER

5842

Pos Part Number Description Additional Text Quantity

1 61230026000 OUTER CLUTCH COVER 08 1.00

2 61230027000 MOLDED RING OUTER CLUTCH COVER 1.00

3 61230001044 CLUTCH CASE WITH BEARINGS 1.00

4 61230025000 CLUTCH COVER GASKET 08 1.00

5 49030090000 DOWEL 9,8 X 7 X 10 FS-E 2.00

10 0015060953 HH COLLAR SCREW M 6X95 WS=8 1.00

11 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 8.00

12 0015060903 HH COLLAR SCREW M 6X90 WS=8 3.00

13 0015060453 HH COLLAR SCREW M 6X45 WS=8 525 SMR 5.00

14 0015060353 HH COLLAR SCREW M 6X35 WS=8 LC4 ADVENTURE 1.00

15 0025080166 HH COLLAR SCREW M8X16 TX40 1.00

16 45038017000 SEAL RING 8X14X1 AI 1.00


